3. Tyler nvested a total of £5000 across three different accounts; a savings account,
a property bond account and a share dealing account.

Tyler invested £400 more in the property bond account than in the savings account.
After one year

» the savings account had increased in value by 1.5%
» the property bond account had increased in value by 3.5%
* the share dealing account had decreased in value by 2.5%

» the total value across Tyler’s three accounts had increased by £79

Form and solve a matrix equation to find out how much money was invested by Tyler in
each account.



